12. Install the tow bar and safety cables according to the instructions included in their packages.
13. Do not substitute other devices if the tow bar pin and clip are lost.

14. DEALER OR INSTALLER: BE CERTAIN THE USER RECEIVES THE INSTRUCTION SHEET.

Tools Required

10MM Wrench 13/32" Drill Bit Loctite Blue
Flat Head Screw Driver  Dirill Metric Socket Set
Ratchet

MATH FRAME FRIM BLNPER 2 i)

Ref. No. Qty. Part No. Description
1 1 BL-5030 . ininiii e Weldment, Baseplate

2 4 201-0443 ... Hex Bolt 3/8-16 x 1

3 4 203-00T0 ..oeeeeiiie e Lock Washer 3/8

4 4 202-0003 ... Hex Nut 3/8

E e e e et e et e e e et e e eea e e e aeeeaaaaaan Existing Bolts

2 226-0046 .....oovvvniiieeeiieee e Baseplate Safety Cable, 36" CL Il (Not Shown)

4 229-0359 ... Quicklink, 3/8, ZP (Not Shown)

© 1997, 2010 Automatic Equipment
Page 2 of 2 292-2237 Rev. B 9/28/10 Mfg. Co. Pender, NE 68047

PDF created with pdfFactory Pro trial version www.pdffactory.com



http://www.pdffactory.com
http://www.pdffactory.com

BX1933 Installation Instructions
1997 Mitsubishi Eclipse Spyder

Utilization of Blue Ox baseplates with any tow bar not approved by Automatic Equipment Mfg. Co.
invalidates the limited warranty.

1.

10.

11.

The baseplate will mount to the frames on each side of the radiator and also to the lower support frame
directly below the motor. Two holes will need to be drilled on each upper frame and the two bolts to the
lower frame will be used to hold the middle brace of the baseplate. The bumper molding, bumper and the
headlights need to be removed to successfully install the baseplate.

Remove the bolts from bumper molding with a 10mm wrench. You will also need to remove the rivets that
are located in the center area of the grill. On the back part of the bumper molding are two bolts that
fasten the bumper molding and the quarter panels. Remove the rivets that connect the front fender wells
and the bumper molding.

The plastic bumper needs to be removed next. Two square tubes slide in the frames (the one on each
side of the radiator). Remove the two bolts that hold the tubes in the frame. They are located on the
bottom of each frame. When the bolts are removed, the bumper assembly can be removed from the car.

Next remove the headlights by removing the top bolt along with the bolts located on the back of the
headlight assembly beneath the fender, also remove the bolt located on the bottom of each headlight
assembly. With the headlights free, remove the electrical connectors and set aside.

The baseplates (Item 1) upper braces will mount on the frame. The larger lower brace will use the cross
member frame holes. These are located in the center of the vehicle directly behind the radiator.

The plastic radiator shroud (the plastic formed around the radiator) needs to be trimmed so the upper part
of the baseplate can be placed on the frames. Hold the baseplate up to the car holding it centered to the
radiator and mark the shroud so it can be trimmed. Below the radiator is a plastic air jam, cut a rectangu-
lar square big enough so the L - shaped brace on the baseplate can be fit through to the engine support
frame bolts.

With the plastic shroud and air jam trimmed, the baseplate can now be installed. Place a jack under the
engine frame and remove the two bolts that support it. Slide the baseplate through the air jam and posi-
tion it so the bolts can be installed again.

The holes for the upper braces will need to be drilled, use the brace holes as guides and drill 13/32" holes
through the frame of the car (two holes per frame). Use the 3/8" bolts, nuts and washers (ltems 3, 4 and
5). Be sure to apply Loctite Blue with each nut and bolt to ensure they will not loosen while in use.

Replace the bumper and hold up the bumper molding to its original position, the grill will need to be
trimmed so the attachment tabs extend through the opening.

With the baseplate installed and the bumper molding trimmed, replace the headlight and bumper assem-
blies.

The dimensional variations between otherwise identical cars can be considerable. While the location and
size of the holes in the baseplate were designed to allow for easy installation, it may be necessary to file a
hole slightly to allow a bolt to clear.

Automatic Equipment Mfg. Co. Page 1 of 2 292-2237 Rev. B 9/28/10
One Mill Road, Industrial Park 1 Pender, Nebraska 68047

PDF created with pdfFactory Pro trial version www.pdffactory.com



http://www.pdffactory.com
http://www.pdffactory.com

